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£1- Copper which is conductive metal is used in all kinds of ......
V- canals Y- ropes Y- string £~ wires
¢Y-Didyou .............. that difficult word in your new dictionary?
V- look for Y- look up Y- take off ¢- take out
£Y- The teacher and the students were working ...... to collect money for the school.
V- compeletly Y- expressively Y- distinctly £ actively
¢f-Tastweekthe ................. of our composition was "The role of T.V."
\- area Y- basis Y- branch £~ topic
£€o- Babiesare .................... against some diseases by their mother's milk.
\- protected Y- protection Y- protective ¢- protectively
£€1-The servant will .................. her children while she is in hospital.
V- look up Y- look for Y- look after ¢-look at
£Y- Good drivers always avoid ............. Very fast in busy and crowded streets.
V- to drive Y- driving Y- from driving £- of driving
¢A-Weused .............. in the sea everyday.
V- to swimming Y- swimming Y- to swim £~ swim
¢4- Please drive more slowly. We have ............ time to get to the airport in time.
V- too Y- enough Y- very £-s0
©+- Ali has saved his money ................ to go to Shiraz.
V- although Y- even if Y- in order £~ so that
CARS U have given the report sooner, but as you see I am still working on it.
Y- could Y- might Y- should ¢~ would



oY¥-Tcan't concentrate........... my studies with all these noise going on.
V- at Y- by Y-in ¢-on

°Y- The plane is just going to take... .

V- away Y- off Y-up £ out

°¢- Could you teach me ............. to ride a horse?

)- that Y- how Y- who ¢~ why
©o- The existence of animals.............. depends on the supply of food.

V- primarly Y- suggestivlly Y- actively ¢ only
©1- Some kind of animals .............. with one another by means of sings.

Y- assist Y- communicate Y- compete ¢- refer

°V- To ancient Iranian were known for the ............. culture they had long ago.

)- primitive Y- advanced Y- limited ¢- offensive
°A- The distances in the space are so great that we have to ........ them in light years.
V- describe Y- realize Y- conduct £-locate
©4- My mother wanted to know if T ............. my room.

Y- had cleaned Y- have been cleaned Y- was cleaned ¢- would have cleaned

1+- He looked very tired. so I ....... him to take the day off and have a rest at home.
V- employed Y- suggested Y- charged ¢~ protected
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